total distance of 3,360 kilometres.

RURATR RIS {uly At EoS U CE e 201Sf = The Tour de France attracts 12 million spectators along the route in a
102th Tour de France will be made up of 21 stages and will cover a typical year’s race. 30% are woman,

Approximately how many spectators are women?

How many miles is the
course?

1 km = 0.62 miles

In 1903, 60 riders took part in the
first face. Only 21 riders complet-

The average Tour de France rider burns a
whopping 123,900 calories over the
course of the 21 day race !

How many crispy creme
doughnuts would that be?

1 glazed doughnut = 200

ed the course. What percentage calories
completed the course?
The prize for winning the yellow jersey in 2014 was ;
€450,000. This was split equally between all 9 team e
members. How much would each rider receive in £s. k '
€1=£0.71
Source: http://www.letour.com/us/ / i =




